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Christmas Addition and Subtraction
Solve the following word problems.

1 Santa has 45 candy canes. He gives 15 candy
canes to his elves and then he finds another 25
candy canes. How many candy canes does Santa
have now?

2 A Christmas tree has 50 ornaments. 15 ornaments
fell off and 10 more were added. How many
ornaments are on the Christmas tree now?

3 Rudolph has 35 presents to deliver. He delivers 15
presents in the morning. After lunch, he delivers
some more presents and only has 10 left. How
many presents did Rudolph deliver after lunch?

4 On Christmas Eve, Santa had 60 lights in his sack.
He delivered 25 lights and then elves added 15
more lights. How many lights does Santa have
now?

5 Santa's sack can hold 80 toys. He already put 30
toys in the sack. Then he adds another 25 toys.
How many more toys can Santa put in his sack?

6 A Christmas tree farm had 100 trees. 40 trees were
sold and 10 more were planted. How many trees
are there on the farm now?

7 Santa has 65 cookies. He eats 20 cookies in the
morning and then he eats some more in the
afternoon. Now he only has 15 cookies left. How
many cookies did Santa eat in the afternoon?


